Find the exact value of x, showing your working:

1 log,8=x 2 log;27=x 3 log,125=13
4 log, 36 =0.5 5 logyx =4 6 log,64 —=x
7 logs125=x 8 log, 9=-2 9 logsx=-1

10 logyx =31
Find the value of: -

11 log, 81 12 log, 256 13 logy3
14 log;s 15 log, 343 16 log. 4
17 —logy(}) 18 logs(tk) 19 logg2
20 log,; 3 '

Caléulate, to 3 significant figures, the value of:

21 log,9 22 logs22 23 logg3
24 logg 5 25 logy 11

Simplify:

26 logy7-+logy2 27 lg15—1g5

28 In5+In6—-1In10 29 2In8 —In5+2In10

30 flog,3 —3log,2 +4log,1 31 3log,4 - log,2 — 3log, 6
32 ?ﬂloga 7-2log,a+2log,3 33 log,5+1ilog, 16 —log,2

34 Slog,a+3log,27 +log,2 35 llog,81+3log,d) -2 log,(2)
Express in terms of log, x, log, y and log, z:

2

Xy X7y 2.3

36 log, (?) 37 log, (—ZT) 38 log,xy°z
39 log, v/(xy%z) 40 logafx—y3
Vz

Solve the equations:

1 22=7 2 =19 3 4 =11
4 55=9 5 7* =151 6 47 =10.125
7 gl — 93 L 8. 532 — 43 9 9x+l . 3x
i 543 = 32 11 6L = gwt3 12 4352 — 53
13 2% 5% 1 6=0 14 2(3%) —9(3%) +4 =0
15 3(4%) 4 11(4%) = 4 16 35+ =374 04
17 22+ = 5(2%) 43 184 4% 448 = 4542
19 26" + 27 =5 20 25F =56
21 - Find the values of x for which
logsx —2log, 3 =1 : [E]
22 Solve the equation )
logy (2 — 3x) = logy (6x> — 19x+2) T [E]
23 Find the possible values of x for which
22x+1 3(2x) -1 [E]
24 If xy = 64 and log, y +log, x =3, find x and y. [E]

25 Prove that if ¢* = & = (ab)y”, then :
x+y=1 [E]




o

Exercise 5A
1 (@ 32 () 12 (© 98 (d) 057
5 2 (@ 24 (b) 064 (c) 42
V3 (@ 074 B 67 (© 15 (@ 1.9
\ ) 2.8

Exercise 5B

1 (@ 092 (b)) —022 () 0.53
(@& 119 (e L35 - () 037
(g) 0.55 (hy 6.05

2 (b) and (c) are translations of (a) in the
direction of Oy.

7 Exercise 5C

i 13 2 3 35 4 1296
5 1 6 3 7 3 8 |
9 1 10 2187 11 4 12 4
13 1 14 -2 15 3 16 4
17 3 18 -3 19 1 20 1
21 158 22 192 23 0613 24 0.774
25 1.09 26 log;14 27 Ig3
28 In3 29 1280 30 log,?2

31 log,# 32 log, 441 -2

33 Tog,10 34 S5+4log.6 38 —log,l2
36 log,x-+log,y—log,z

37 2log,x+log,y—3log,z

38 log,x+2log,y+ 3log,z

39 llog,x+log,y+1ilog,z

40 log,x+log,y —3log,z

Exercise 5D ‘

1 2.81 2 268 3 173 4 1.37
5 258 6 1.5 7 1.85 § 0.112
9 1.71 ¢ 138 11 605 12 -3.89
13 lorl1.58 14 -—0.631 0r1.26

15 0792 16 1 17 1.58
18 lorl79 19 =+0.693

20 0.431 or 0.683 21 9

22 —lor-2 23 Oor-1

24 (4, 16) or (16, 4)




